M TRAD B
L%‘ R 22 R HE

ERE22F K %
= v . E -~ b
AiEHHE S WM
ERE 23 &£ 10 A%y
g # B A k(%) BIEER A Lt (%)
# & 99. 9 0.0 0.0
EBERZRKRE 99. 8 AO. 1 0.1
| B E B MR O WS (T R224=100)
m— R A (RS AR A L (EREREREBE
— AN —— ERBRERR AR
102 6
1 5
101 |-

\M\ 1 4
100 N A\

3

e 99 [ 1o HI
. F
= @
A
98 Jad
%
97 ~

96

95

1011121 2 3 4 56 7 8 91011121 2 3 45 6 7 8 9 10
214 224 234 A

BBERABRIPEALR L TVS TR 22 FREHEEYIE
ERo#fiRNG., — BT -2 EHBRLELOTY

#E R £ E SRR



1 # %

OB LEHBRZRLEDIIEM. AMTALRUAIERALOHERE (Fr22 4= 100

224F 23 &

104 | 11A [12A | 1A 2A 3H 4H 5H 6H 7H 8H 9H | 10AH
B 99.8| 99.6| 99.7| 99.7| 99.7[100.1| 99.8| 99.7| 99.6| 99.9| 99.8| 99.8| 99.9

=3¢
533
o>

RiTH He 0.0| A0.2[ 0.1 0.0| 0.0| 0.4 A0.3| A0.2| AO.1| 0.3| AO.1| 0.0 0.0
(%)
WifER A| 0.2 0.3 0.1| A0.9| A0.4| AO.4| AO.7| AO.5| AO.5| 0.6] 0.3] 0.0 0.0
(%)
AfER B3 99.7| 99.4| 99.7| 99.5| 99.4| 99.9| 99.8| 99.7| 99.7[100.0|100.0| 99.9| 99.8
o & R

<A | AiAK 0.1| A0.3| 0.4| A0.3| 0.0| 0.5/ AO.1|AO0.1| A0.1| 0.4| AO. 1| AO.1| AO.1
(%)

Hi4E A A | AO.4| AO.4| A0.2| AL. 1| AO.7| AO.7| AO.6| AO.6| AO. 4| 0.5| 0.3 0.2 0.1
(%)

* TA] I~ FA%&5T, UTFHELT,

ER23F10ADRMETHEEDEESHIE. T2 28% 100 & L=AREIEHT 99.9
Y, RIALIFZ0.0%ERKE, RIFERIALY 00 % ERKEELELZ ST,

HBHBRZTRBEEHIT 998 L2V, ATALIX 0.1 %D T%. RIERALIE 0.1 %D
J:%—&UOT:O

2 HMAH»SOBE

(1) 1OXEBE#. sTAL

(FEm 22 F£=100)

WE | ewane| K wfees | EREO| B B . IR KPR E|ZE | BE | B | MR

AN
En o m
A

¥E# | 99.9| 99.8| 100.4| 101.6| 99.4| 105.3

©
(e
ol

100.8| 98.3| 101.1| 97.8| 96.9| 102.7

AiAK | 0.0] AO.1 0.5 3.3 0.0 0.5 0.3 1.1| A0.6| AO0.4| 0.0| AO0.9 0.3
(%)

(2) AR & DL (F55)

T ERFLE-ELREAR | T%L-ERQEAR

Fx-m8% 5.6 % 5 RERHER A 3.3 %
(EfEx 9.2 %) 5 ansE A28%
EYiE 4.2 % 5 (£ A 57%)
B 4.0 % i E I8 % A A B A 24%
(E8EM 4.2 % i REERAMR - £E A 20 %
Uy -t—4—-TEE 3.8% i ZLOR%E A1.4%
(TEHE 7.8 %) E xH Al14%
R B A A Bt 3.2 % E GERR A 1.4%)



3 HIFRA DL

(1) 10OXE&EBE#. fiIEREAL

(R 22 = 100)
ma | eees| BB A i fEE | B FOE - MR KRR E|RRE | BE | s | MR
B < # KiE [FFEH|IO B U A ES
& i )
¥ 99.91 99.8| 100.4| 101.6 99.4] 105.3 90.5| 100.8 98.3] 101.1| 97.8 96.9| 102.7
4R A A 0.0 0.1 0.3| AO0.6| AO0.6 4.3 AG6.5 0.0 A2.0 1.4 0.6 A0.9| AO0.8
(%)
(2) BIERRA LD LE (h4H5E)
TERLI=-E4LIER vl TELULELIER
fth O e B 8.6 % ; R BE A A BF A 16.4%
BRA 6.7 % i BE IR AW A B A113%
xY - t—4— - TEE 59% : XY A 106%
(F&EHE 16.0 %) i (EBEY A 9.6 %)
ERNE RS 5.1 % E B¥iE A64%
;i 4.0 % i BnEY A& A61%




